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( INSTRUCTIONS )

e e

(Please read carefully and comply)

1.  Kindly read the complete set of instructions carefully and also see the instructions on the |
back side of the OMR Answer Sheet and fill the details in the OMR Answer: Sheet and
| Question Booklet.

2. One paragraph each in Hindi and English is given in page 1. Copying of the paragraph
; in the space provided in the OMR Answer Sheet (in the language as filled in

the application form either in Hindi or English) in your running hand is compulsory.
DO NOT USE BLOCK LETTERS.

3.  (a) Question Booklet Serial No. must clearly be written and marked in the bubbles in.
the space provided in the OMR Answer Sheet.

(b) OMR Sheet No. should be written in the space provided in the Question Booklet.

4.  After being instructed to open the Booklet, the candidates will open the seals. It is the
responsibility of the candidate to check and ensure that the booklet contains
100 questions and start the paper from page no. 12.

5.  The question paper comprises 100 questions and 50 questions are available in congruent
versions of English, Hindi, Urdu, Bengali, Odia, Telugu, Marathi, Gujarati and Kannada
languages. In case of any doubt or confusion, English version shall prevail.

6.  All questions are of Objective type. There is only one correct answer to each question carrying
one mark. There will be negative marking for wrong answers. For every wrong answer,
1/3 mark will be deducted.

7. Inthe event of any mistake in any question/s, candidates will not be penalized. However no

corrections will be made in question/s during the examination.

8. You must use Blue or Black ball-point pen only for answering. Altering of answers once
entered is not permissible. Enter the answers in the Answer Sheet carefully.

9.  Rough work, if any may be done in the Question Booklet only in the space provided at the
end of the Booklet. No additional paper shall be provided.

10. Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other

electronic item/instrument, etc. is not allowed. Their use will result in disqualification.

11. No candidate should leave the examination hall before the final bell. The Answer Sheet as
well as the Top Sheet of the Question Booklet should be handed over together to the invigilator
before leaving the Examination Hall.
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SECTION -1 : PART - I (General)
ENGLISH
1.  Who has authored “Sandhya Geet” ?
(A) Mahadevi Varma (B) Jayashankar Prasad
(C) Sumitra Nandan Pant (D) Suryakant Tripathi ‘Nirala’
2. The tools and implements found in Harappan civilisation were made of :
(A) Copper (B) Iron
(C) Bronze (D) Copper and Bronze

3. Which states of India went to polls in Nov-Dec 2014 ?
(A) Jharkhand and Bihar
(B) Uttar Pradesh and Madhya Pradesh
(C) Jammu and Kashmir and Jharkhand
(D) There were no elections in this period

4. . If SPARK is coded as TQBSL, what will be the code for FLAME ?
(A) GMBNF (B) GNBNF (C©) GMCND (D) GMBGD

' 5. A metallic sphere is melt and entire material is recast into a cylinder of the same radius as the
original sphere. What is the ratio of the curved surfaces of cylinder and the sphere ?

TR B) 2:3 (CHN §: 48 (D) None of these

6. If 'NPWF’ is a secret code for ‘"MOVE’, what will be the code for ‘DIFFICULT” in the same
scheme of code ?

(A) EJGGJDVMU (B) FKHHKEWNV
(©) EJGGJEVMU (D) EJCCJIDVMU
y R N | 1 1
I+ =+ —+ =+ — + — j :
7. TR e equal to :
(A) 2 (B) (725
() 3 (D) None of the above
8.  Ina flower bed there are 21 rose plants in the first row, 19 in the second row, 17 in the third
row and so on. If there are 5 plants in the last row, what is the number of rows ?
(Ay 7 (B) 8 (<9 (D) 10
SLT004415
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9.  Which of the following is the longest (2369 km) National Highway in India
(old numbering) ?

(A) NH-2 (B) NH-5 (C) NH-7 (D) NH-8

10. Which is largest life insurer in India ?
(A) Life Insurance Corporation of India
(B) ICICI Prudential Insurance Co. Ltd.
(C) SBI Life Insurance Co. Ltd.
(D) None of the above

11. The ratio of the two parallel sides of a trapezium is 3 : 2. The shortest distance between these
sides is 30 cm and the area of the trapezium is 900 cm? What is the sum of lengths of the
parallel sides ?

(A) 10 cm B) 15 em (C) 36 cm (D) None of these

12. Ina class of 40 students, Mohan’s rank is 10t from the top. If there are 5 students between
Mohan and Rohan, how many students are there between Rohan and the student ranking

last ?
(A) 4 (B) .23
) 17 (D) Data inadequate to answer

13. In an office 40% of the staff is female and the rest male. Ramsundaram stated that 40% of the
female and 60% of the male staff voted for him. What is the total percentage of votes he
managed to get ?

(A) 100% (B) 50%
i B G (D) Cannot be calculated

14. What is the number that when divided by 7, 9 and 12 leaves the same remainder 1 in each
case ?

(A) 253 (B) 352 (C) 505 (D) 523

15. The positions of the first and fifth digits of the number 83256479 are interchanged Similarly
the positions of the second and sixth digits are interchanged and so on. Which of the following
digits will be the fourth digit from the right ?

(A) 3 B) 7 © 8 (D) 9
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Directions for question number 16 to 18 :

In the following three questions, certain relationship exists between the two words/figures on the
left side of : " symbol. The same relationship should apply to the two words/figures on the right
side. Please replace (?) with the appropriate choice.

16. Hunger : Food : : Disease : ?
(A) Weakness (B) Medicine (C) Sickness (D) Water

17. Thin : Thick : : Dwarf : ?
(A) Short (B) Tall (C) Broad (D) Long

18. 400:20::484: ?
(A) 20 (B) 21 ) 22 (D) 23

19. Who among the following demitted the office of Prime Minister of India in May 2014 ?
(A) Narendra Modi (B) Manmohan Singh
(C) Arvind Kejriwal (D) Lal Krishna Advani

20. The compound interest on a sum of ¥ 2000 for the first and second year is ¥ 220 and T 244.20
respectively. What is the rate of interest per annum ?

(A) 8% ®) 10% ©) 11% (D) 12%

21. The visitors sitting gallery in a football ground comprises of 15 steps each of which is 50 m

1 1
long. Each step has a rise of am and tread (width) of 5 m What is the volume of concrete

required to build the gallery ?
(A) 600 m3 (B) 750 m3 (C) 900 m3 (D) None of these

22. Which of the following books is not written by Tulsidas ?
(A) Vinaya Patrika (B) Kavitavali
(C) Geetika (D) Ramacharitamanas

23. One day an employee cycled his way to office at 10 km/hour, he could reach his office
6 minutes late. The next day he increased his speed by 2 km/hour and arrived in the office
6 minutes early. If he starts from his residence at the same time every day, what is distance of
office from his residence ?

(A) 8km (B) 10 km (C) 12 km (D) 14km
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A tree breaks due to storm and the broken part bends such that the top of the tree touches
the ground making an angle of 30° with it. The distance between foot of the tree and the
point where the top touches the ground is 8 m. What was the height of the tree originally ?

0. 1880 (B) 16 m
(K) - 20m (D) None of the above

Who among the following was/were awarded Nobel Peace Prize in 2014 ?
(A) Malala Yusufzai (B) Kailash Satyarthi
(C) Both (A) and (B) jointly (D) Neither (A) nor (B)

With reference to Personal Computers, which of the following is hardware, not software ?
(A) Microsoft Excel (B)  Microsoft PowerPoint
(C) Operating System (D) CPru

If "FIRE’ is coded for a secret message to be teleprinted as ‘EHQD’, how will the word
‘DONE’ be coded in the same code ?

(A) DMOE (B) CNMD (C) DLNC (D) DNPE

A and B can do a work in 72 days. B and C can do the same work in 120 days, and A and C
can do it in 90 days. In how many days can all three together do the same work ?

(A) 60 (B) 90 (C) 120 (D) 141

What should come in place of “?” in the following sequence ?

ADVENTURE

DVENTURE

DVENTUR

?

VENTU

(A) DVENTU (B) VENTUR (C) ENTURE (D) DVENT

The Lowest Common Multiple (LCM) of two numbers is 48. The numbers are in the ratio of
3 : 2. What is the sum of the numbers ?

(A) 25 (B) 28 (C) 32 (D) 40

The ancient treatise ‘Harshcharita’ was written by :
(A) Banabhatta (B) Kalidasa (C) Hiuen Tsang (D) Ravikirti

The cost price of an item is ¥ 300. It is increased by 10% by the wholesaler and again increased
by 10% by the retailer. What is the final price of the item ?

(A) T 360.00 (B) ¥ 363.00 (C) T 340.00 (D) % 400.00
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33. In which present day state was the ancient Nalanda University situated ?
(A) Bihar (B) West Bengal (C) Jharkhand (D) Chhattisgarh

34. In a certain examination the average score of the girls is 73 and that of the boys is 71. The
average score of the entire class is 71.8. What is the percentage of girls in that class ?

(A) 40% (B) 50% (C) 60% (D) None of these

35.  Which of the following leaders will be the chief guest at the republic day function on
Jan, 26t 2015 in New Delhi ?

(A) Vladimir Putin (B) Barack Obama (C) Nawaz Sharif (D) Shinzo Abe

36. Which of the following cricketers died recently after being hit by the cricket ball while

playing ?
(A) Philip Hugue (B) Virat Kohli
(C) Mohammed Shami (D) Michael Clarke

37. A fruit vendor bought some oranges 3 for a rupee and equal number 2 for a rupee. If he
wants to make a profit of 20%, what should be his selling price per dozen?

(A) T4 (B) 5 (C) T6 (D) %7

38. The national campaign launched by Prime Minister Narendra Modi on 274 October 2014, is

called :
(A) Swachchata Abhiyaan (B)  Shuchita Abhiyaan
(C) Shubhata Abhiyaan (D) Saaksharta Abhiyaan

39. Mahavir was born at :
(A) Magadh (B) Vaishali (C) Kushinagar (D) Pavapuri

40. If HOSPITAL is written as 32574618 in a certain code, how will POSTAL be written in the
same code ?

(A) 725618 (B) 816527 (C) 652718 (D) 667185

41. If first day of a year (other than a leap year) was Friday, what would be the last day of the
year ?
(A) Thursday (B) Friday (C) Saturday (D) Sunday

42. The 49 houses of a colony are numbered sequentially 1-49. Smita says her house no. is such
that the sum of house no’s preceding it is exactly equal to sum of the house no’s following it.
Which is her house no. ?

(A) 33 (B) 34 (C) 35 (D) None of these
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Among five friends, Mohan is older than Raju but not as old as Lalit. Lalit is older than
Neelesh and Kabir. Neelesh is younger than Raju but not the youngest. Who is the fourth in
the descending order of age ?

(A) Mohan (B) Raju (C) Kabir (D) Neelesh

A, B, C, D and E are five rivers. A is shorter than B but longer than E. C is the longest and
D is little shorter than B and little longer than A. Which is the shortest river ?

(A) B (B) C € D (D) E

Six boys are standing in such a way that they form a circle facing the centre. Alok is to the
left of Prabhat. Sunil is between Ashok and Vikas. Hari is between Alok and Ashok. Who
is to the left of Vikas ?

(A) Prabhat (B) Hari (C) Ashok (D) Sunil

Shyam is taller than Pradeep and Pradeep is equal to Anurag. But Anand is smaller than
Suresh who is equal to Anurag. If Pradeep is taller than Praveen, who is the tallest of all ?

(A) Pradeep (B) Praveen (C)° Suresh (D) Shyam

Sumit ranked 9" from top and 38 from the bottom in a class. How many students are there
in the class ?

(A) 47 (B) 48 o= (D) 46

Directions for question number 48 to 50 :

Read

the following information carefully and answer the questions given below it.

Six persons are sitting in a circle and facing the centre. They are playing cards. Vijaya is left to
Sudha. Anshu is between Rekha and Sandhya. Neelima is second to the left of Anshu.

48.

49.

50.

Who is between Anshu and Vijaya ?
(A) Sandhya or Rekha (B) Sudha or Rekha
(C) Sandhya or Sudha (D) Rekha and Sandhya

Which of the following will be the position of Anshu from Neelima ?
(A) Third from right (B) Second to left
(C) Third from left (D) None of these

Who is second to the right of Vijaya ?
(A) Sandhya (B) Neelima (C) Rekha (D) None of these
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PART - II ( English/f&=<t)

51.  Fill in the blank using the verb (in bracket) in past perfect continuous tense.

She hard since September. (study)
(A) Had been studying (B) Has studied
(C) Studies (D) Shall be studying

52. Rearrange the following words to make a meaningful sentence.
relieves and amuses/soul/laughter/the depressed
(A) Laughter relieves and amuses the depressed soul.
(B)  The depressed soul amuses laughter.
(C) The Laughter amuses depressed soul.
(D) None of these

53.  Which of the following alternatives makes correct use of article ?
(A) John sells milk twenty five rupees a litre.
(B)  John sells milk twenty five rupees the litre.
(C) John sells milk twenty five rupees an litre.
(D) John sells one litre of milk for ¥ twenty five.

54.  Which of the following sentences makes use of articles correctly ?
(A) A dog is a faithful animal. (B)  The dog is a faithful animal.
(C) The dog is an faithful animal. (D) None of these.

55.  Select the right choice depicting the ‘indirect speech’ of the following sentence.
I said to her, “Do you know how to play hockey ?”
(A) Isaid did she know how to play hockey.
(B) Iasked her whether she knew how to play hockey.
(C) Itold her to play hockey.
(D) TIsaid please learn to play hockey.

56. Which of the words given in the options does not have the same suffix as the remaining three
options ?
(A) Governor (B) Sailor (C) Actor (D) Painter

57. Study the following sentences.
(1) Walking is a good exercise.
(2) Eating is essential for life.
In the above sentences ‘Walking’ and ‘Eating’ are called :
(A) Participle (B) Article (C) Gerund (D) Verb
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58. Find a matching Hindi Proverb from the given options for the following English Proverb.
Once bitten, twice shy

(A) Y F ST IS ff ek Feh BT AT
(B) HITE, 7 W@ IUR

(C) for Tar Aan & foreran

(D) dd W JHIfA S eisll 3R

59. Please identify a single word that captures the meaning of following set of words from the
given options.
A speech made without previous preparation
(A) Extempore (B) Debate (C) Extraordinary (D) Elocution

60. In the following sentence, the word ‘Which’ is grammatically classified as :
The little boy lost a ring which was made of gold.
(A) Proper noun (B) Relative Pronoun
(C) Adjective (D) Adverb

61. Fill the right determiner in the following sentence.
There is water in the pitcher.
(A) Some (B) Many (C) Any (D) Several

62. Identify the sentence that uses the determiner wrongly."
(A) He had little milk.
B) He drank the little milk he had.

(
(C) She had a little milk.
(D) There is not some milk in the bottle.

63. Fill in the blank using the verb (in bracket) in future continuous tense.
It is a serious injury but he again in six weeks. (walk)
(A) walks (B) will be walking (C) shall walk (D) walking

64. Which of the following words does not have the prefix ‘Al’ ?
(A) Almost (B) Already (C) Alone (D) All

65. Rearrange the following words to make a meaningful sentence.
feared by/snakes are/in our/worshipped and/many/country
(A) Snakes are worshipped and feared by many in our country.
(B) Many were worshipped and feared by snakes in our country.
(C) Many snakes are worshipped and feared in our country.
(D) Snakes are feared by many in our country. ‘
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66. Which option is the correct Hindi translation of the following sentence.
She looks tall for her age.
(A) 34 % feur 9§ 98 510 A oet ot 2
(B) &% S 31fYsh il @It B
(C) % &t &t g1 .
(D) 9% 93U % AR ofall w2

67.  Select the correct translation of the following English Proverb into a Hindi Proverb.
Where there is a will, there is a way.

(A) <9 qeF GiY 79 T T (B) Tl =ITE =&l U
(C) TEdHd w (D) T8 | *IE Tl

68. Which of the options is the correct conversion of the following sentence into passive voice ?
Where did you find this pen ?
(A) Where you found the pen ? (B)  Where was this pen found by you ?
(C) Did you find this pen ? (D) You found this pen !

69. Please identify a single word from the given options that can be used in place of the following
set of words.
Occurring every two years
(A) Annual (B) Biennial (C) Biannual (D) Biped

70. Which option represents correct active voice form of the following sentence ?
The crops had been reaped by the farmers.

(A) The farmer has reaped the crop. (B) The farmers had reaped the crops.

(C) A farmer was reaping the crop. (D) The crops were reaped by the farmers.
71, Frafafed wedi F § &5 @ v v’ s @ a2

(A) wiaga (B) wfes (C) widard (D) was

72. frefafed v § 1 @ afy wgea &1 T §

geleT
(A) =& gy (B) &R gfyg (C) fauri wfy (D) dgfg af

73. freiferd oo dfmai § ST w@m 2.
oI 1§ 93t umel 3 Wt e WEe g
3R FUE T Y I FW o E AT g
(A) SId (B) wmd (C) % (D) ==

74. T 9 HF G WK ' WHG' k1 wHiTare w2
(A) EIR (B) TR (C) gL (D) eIty
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Frefafiaa fasedl # fodl 73 qeerl #, @ qerew gita o s1ef st & 9 7 8|

(A) g T SR ST SIS 6 fEE (B) RS T are Sy

(C) fowest amet su=t 09 (D) T h B FaEA

T W T e gA A

AT & A | O A

3 Yferrdl ® i | SRR § 2

(A) AR (B)  Afawrnfed (C) 3Ty

e’ v 1 faam Farsd |
(A) ST (B) g™ (©) ergAE

i1 1 fasey Frfafad aw &1 98t Hae 7@ ¢ |
T offE Wi | e TAT TE |

(A) He would prefer dying to begging.

(B) He would better die than beg.

(C) He had rather beg than die.

(D) He would prefer to die than beg.

frefafed am, 3 T fasedl § § fFg TR #1772

T e &Y @A fean afe e @& @)

(A) E 9 (B) HIH aTH - (C) Tam e
Tt @t gfe | e o] 1 =TI HifS(T |

(A) amfe (B) aTrHail (C) 3mHfR
frfafaa fased & @ ¥s o I |

(A) afg g7 oY FR =@ @ gee T8 sl |
(B) afe g1 FR X e dt gHeT 7@ B |
(C) 3fg ¥k g0 w1 J@Td @ el a1 ardl |
(D) afe &R &Y g7 =&l df gee T8 st |

frefafad e % fore vd gom & Tm %1 98 faswey sifed |
Y& difea

(A) o § difed - qogey T

(B) ke 3R ifed - g5 wHH

(C) Tt iR difed &1 wqg - fg7 @

(D) oTTa Hifed & S - FHYURE FHH
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83. frefefed e fed T fawmedi # @ fFd g #1772
¥ wmean & for ® oft qren |y € W we |
(A) TR ETEE G (B) Hehd AT ol
(C) =31 drdsh a1 (D) W<E ara ar

84. Trefafaa 9 & FE IS e e fased o4 |

Hash SR W
(A) Frogs are buzzing. (B) Frogs are braying.
(C) Frogs are croaking. (D) Frogs are chattering.

85. & @ fasey fefafad aea &1 98t 31 9T 2|

TE T | @ e g
(A) It is obtained in men. (B) Itis found only in humans.
(C) It is human tendency. (D) T | HIE T

86. TrefefEa oo % Wet SIS STgame are fashed T |
Tt e e @
(A) Water is swirling. (B) Water is cutting circles.
(C) Water is flowing. (D) Water is not flowing.

87. el U U O A ¥ 31 AR TR q°1 X 9N e fre & @ HIA W1 STewR B g 2

(A) HIIH (B) ¥&¥ (C) ® I (D) IH®
88. ‘UEHIE ¥ HIF W WA & ?
A) T (B) wESE (C) wHuE (D) 37eHet wTE
89. freifrd ek & e % ford wel fasew 9
el | AT
(A) 9gd G B (B) gd HieT & (C) Igd I (D) 3EX U I BT

90. freAfafaa fe qerat 1 st ¥ TE AR S @ fawed 82
A Uid qEIRE, S wet )1
(A) When in Rome do as Romans do
(B) The wearer knows where the shoe pinches
(C) Cut your coat according to the cloth
(D) Too many cooks spoil the froth

91. il IYEY H IUAM FI FHeul HL et T B, w6 FreAfafad § § i 6 Sewr 2 8 2
(A) 39w (B) ¥4 (C) & (D) I9®
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92. ‘snfuue’ vise o1 g §

(A) wnfae (B) oMUR g (C) aM arer (D) wrHIfUTsR
93. ‘3R’ = YA v &

(A) ¥R IR (B) fer (C) ®wR&H (D) dfarR
94. fed M3 famwedi # | frifena wsg 1 wwrneff 9f@ |

Sfgrar

(A) T (B) fa=m (C) fa=ma (D) I9ge |t

95. frerfeaa vree 1 @@l wf fosde famedl & @ g

KPR
(A)  E+ 3T (B) Y +3IWId (C) g+ (D) 9 9§ #IE &l

96. ‘3TeREUT’ T faET e waEd |

(A) fawdy (B) 3TR&TT (C) faead (D) WS
97. ‘faean’ vee %1 gumR TdEd |

(A) e (B) oTHA () gt (D) @ufs
98. fr=foriaa amie & 1 & ford wet faswew g/ |

[SEEARIER: 2

(A) 3T (B) 3&T= (C) STeud (D) e

99. fr=fafaa sy % fod fed T3 faswedl § @ w& wi=g gid

et =g 9 &t S

(A) erufed (B) IHmEe= (C) sfawd (D) 3SmEiwa
100. frefafen wee § waaa wora % o e fowey =1 997 =ifm)

TR

(A) & (B) 3T (C) 3™ (D) o1

~-00o0-
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